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VCTR & v 7 \NE MWK 8,000 4 = 4 A MWK 128,000
VCTR & v 758 MWK 3,200 1 = MWK 3,200
70T (411 358BE (RR) MWK 19,600 1 [] MWK 19,600
4/12 @& (M) MWK 15,000 1 [] MWK 15,000
4/11VCTR % v 7BER MWK 56,200 1 = MWK 56,200
4/12VCTZ % v 7BER MWK 56,200 1 H MWK 56,200

4/12 VCTR & v 7 BREME MWK 1,063 1 = MWK 1,063

LY H 4/138B 2 & v 7 BER MWK 15,000 1 = MWK 15,000
4/13VCTR & v 7BHER MWK 12,750 1 = MWK 12,750
4/14VCTR & v 7 BHER MWK 51,200 1 H MWK 51,200
4/14VCTZ % v 7 8REMR MWK 250] 10 | = MWK 2,500

N MWK 360,713




